=3 AR 10 B¥~ 19 BF

HEBRFERAFRNAFREROFAZ

MINEENKET 2BHE 3 RE
B, TRASRINKZORSEZA]
BIscenTteEdd,

FEEE - 108~128 885300~ 1967

1TB~38B 9F~19%

XL TRASZRIMAZREECH

FLshe<EsL, BQNE6016
S = iBRISE =B

*FENTHR&/MEEHEIBOK X

Fov-EEDZE BLZE

& & -11888(B)14i5~ 1585300

E2B3 - NEE2E AVE

2008} - R

£ 8- 80AERAIR

Xl REENSBLIAHFSES,

IEEEE#ICES !

MATESED 1 BHS588BETle
2 1 4B DBEHRERHHIKEL TLVED,
FRCHNBETEZB8HETIN, BB
EBBICRVHBETI,
BE#CEDORBNESIZ, DEDZERR
ABLEL &5,
Q@EX LY -V IVEPUFEROYIRET
EERELEL &S,
OhFDOMIFENISEBELEL LS.
OHEHDORIIBOMEBIZCHEL &£ 5.
QEHNDHDTHBEMbMdLDIC,
BEEICRAFLEERLALELL S,
QOHEGEHRFTIETI BEGHMHILEE 1%
LELLS.
QHEENEFEFNLESTSICERICEIT
HELLD,

|# OHREERHREER B
[m OFRERELELLN B

2 (42) o110

A pasee ngs

(FERER)

> (24) 0183

BKT—ILDEBS FBHREN5OHRSE
OXiFEBS OFSYRUVHE (VHEFI-R)
i % A& |e=8 X &S TEE
0o~ 1®R R & & -1186,10,13,17,20,278, 128
LB |pBsas—|T| & 1. 4 B (188305 ~208530%)
L2 |l x| o E23 - M-VEY9—E 2 KBE
4~6mE [BREANE—H| 1 |18 Z008 - 1,100 E8 - 32A (&)
LB |IkiEn " BAHE - 108218 0K) 188309 Tl
AR~ 6% X M=V eyI-2BECES
SE S ban, was || & 05 = 2H=
N A= &[0 A 3 2 - 18mMULE(EEZERO
11~ 4EE e & & -1186,11,13,18,20,258, 128
" Wy O-VBE[ X & 2. 4,918 (1085 ~126%)
MR ERE | K[ 15A ECB - UR—Yb Y9 - —F

& & - [RZFN0/208~128158 SN0 - 2,400 FS - 40N BB
_ [ZZF]1/198~ 373308 BTG - 108108 ~248 2 FEERED
&S%ﬂ %5’— 0, 000%(%3—%8@) CEEbﬂJj(%u%EEﬂTT)
s I VY Sty
e T | & BN (PR
O KEHBE %210);165\%&) & =-108238&)  1005~128%
= - ° W ~ . =ETE/
H @4~ OHAIE ] ~4EE e o e
A% - BECHL D (SE _?gg;}gﬁf__?fj_??_?‘ﬁ_ﬂ_??ﬁ
ONVA7yIRER | CFEAET () TAOAERAEER
e e = SRR | ar-veysom) BED4150.
‘ 10815.16A
e - BAVE2M-Y T Ry Fr | EBS
Ty
FpEy | 0721 23H . N - BHNE RS YT 4 PHE
i - |[10B20B~1182, 500 & £-118881) 1065~1265
®”EW‘§_@/Z nEEsm| A} EZ3 - BEBULEYI—-4038
@é};zggmﬁna 500F 2108 - X T8 - 30A (BAB)
GRS —— SUER-10R0BGE)
S EH “308 [500m FPET TRaABEEELRE
ARk - o (M =BAUREEN) & (27)2525
@§E%£EW10HWE | — - . - in
SMEADRR@B108108 (1) (EAE) DiFEABEBEOHEER /-7 T
OE=k=2n1 L BORERRSBR1INBE8BE) T
%DRIRBIC AR DE, g, 2OBE. BRTEMLET.
(#iﬁ%lﬁl ............................................ ?E‘{EFEE%E%{E%%T&E}%B%
CREAET BT ), & (49)7001 BQH 1366
C@x vV W . Y VvV VvV YV
2 g g BA S 1? E =
ARV A B n @ B &
= % 7 B %sﬁ s % - ig %
= . LGl L o =
= = 153015 [T N
1\{eg e i 2%y # " > b
2@ ) tS () G
1 ; t fﬂi% AR @ R o
3[@Es 7 z% B - E -
Kl % 2
I Z3 7 T
% X = m =
& + % — & cm
k/ - -
—— o o @ 2 @ @




